Back to the Future – Exercises
I. Compare scenes one and two:

a) What does Biff want George to finish for him?

Scene 1:  _______________________________________

Scene 2:  _______________________________________

b) Why must George finish the work earlier?

Scene 1:  _______________________________________

Scene 2:  _______________________________________

c) What will happen if Biff uses George’s work as is?

Scene 1:  _______________________________________

Scene 2:  _______________________________________

d) What trick does Biff play on George?

Scene 1:  _______________________________________

Scene 2:  _______________________________________

e) Extra bonus: What bad thing does Biff do before the scene starts?

Scene 1:  _______________________________________

Scene 2:  _______________________________________

II. Write the letters P, R, B or N in the blanks to show whether each action was part of Marty's Plan, part of the Reality, Both or Neither.

____
a)  Marty takes Lorraine to the dance.

____
b)  George “takes advantage” of Lorraine.

____
c)  George hits Marty in the stomach.

____
d)  Lorraine gets really angry at Marty.

____
e)  Lorraine gets really angry at Biff.

____
f)  Biff finds Marty and Lorraine in the parked car.

____
g)  Lorraine kisses George on the dance floor.

____
h)  Lorraine kisses Marty in the car.

____
i)  Biff breaks George's arm.

____
j)  George says, "Hey you, get your damned hands off her."

